% 6 § @ Expoentes negativos de 10

Nome: Encontro: Data: Pontuacio:
4x107Y = 8 x 10 =
311,9+ 1072 = —2x10° =
484,7 x 1003 = 100D =
1002 = 1003 =
—3x10= 6x 10° =
1072 = 430,6+ 1007 =
—1 % 1079 = 7x 1002 =
1070 = 153,6 x 100 =
1072 = 350,1 % 100D =
7x 100D = —1x10° =
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w 4 § @ Expoentes negativos de 10

Nome: Encontro: Data: Pontuacao:
4 x 107 = 0.0004 8 x 10 = 80
311,9+ 102 = 31190 —2x10° =2
484, 7 x 1079 = 0.4847 1077 = 0.1
1072 = 0.01 107 = 0.001
-3 x10=-30 6x10° =6
1072 =0.01 430, 6 + 107 = 430600
~1x 107" = —0.0001 7% 10072 = 0.07
1077 =0.1 153, 6 x 107 = 0.1536
1072 = 0.01 350, 1 % 100" =35.01
7% 1070 =0.7 ~-1x10°=~1
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